POWER TOOLS

IX

Premium Quality

RON

2820

Demolition Hammer 1100W

www.ronixtools.com



RONIX

Premium Quality

www.ronixtools.com

Number | Name Number | Name

1 steel wire retainer ring 28 46 ball bearing 608
2 Front Cap 47 bearing sleeve
3 Slippage Clamp 48 motor housing
4 Slippage Clamp Spring 49 rear cover

5 steel ball 7.938 50 screw ST4*20

6 head 51 N/A

7 O ring®44*®2 52 N/A

8 impact hammer 53 inner socket bolt M5*45
9 ring for hammer 54 carbon brush
10 cushion washer 30*45*4 55 brush holder

11 oring 26.3"4.3 56 brush cap

12 O ring 39*2 57 inner socket bolt M6*30
13 cylinder 58 N/A

14 inner socket bolt M8*30 59 screw ST4*25F
15 N/A 60 left handle

16 cylinder case 61 screw ST4*14
17 striker 62 switch

18 Oring 28.4*3.5 63 right handle

19 piston 64 N/A

20 piston pin 65 pressplate

21 connecting rod 66 cord sleeve

22 N/A 67 power cord

23 Oring 55.8*2 68 fastening belt
24 oil cap 69 supporting bracket
25 o ring 59*2 70 nut

26 eccentric shaft 71 auxiliary handle
27 flat key 4*4*10 72 screw M5*20
28 spring retailing ring

29 O ring 46.5*2

30 ball bearing 6303

31 gear box

32 oil seal

33 gear

34 N/A

35 washer

36 ball bearing 6001

37 middle cover

38 oring 31.5*2

39 ball bearing 6201 RS

40 washer

41 screw ST4.8*60

42 stator

43 tension spring

44 resistance oil ring

45 armature

POWER TOOLS

2820

Demolition Hammer 1100W



